Whole Number Worksheet
P5 Mathematics CA2 2015
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For each question, four options are given. One of them is the correct answer.
Make your choice (1,2,3 or 4).

1.

How many tens are there in 45 790?

1) 45

(2) 457

3 4579

4) 45 790 ( )
What is the value of 24 — (15-9)+ 2+ 7 ?

(1 o0

(2) 2

3) 16

(4 28 ( )

Sushma packed 4 cupcakes and 5 muffins in each box. After packing 30 boxes, she had
the same number of cupcakes and muffins left. If she had 3 muffins left, what was the
total number of cupcakes and muffins at first?

(@) 270

2 273

3) 276

(4) 360 ( )
Round off 543 090 to the nearest thousand.

(2) 500 000

(2) 540 000

3) 543 000

(4) 544 000 ( )
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Write your answers in the spaces provided. For questions which require units, give your
answers in the units stated.

5. Round off 35 498 to the nearest 1000.

Ans:
6. 9600 + 60 =
Ans:
7. Ali and Zaki are brothers with an age difference of one year. The product of their ages is
650. Ali's age is a multiple of 5. What is Zaki's age?
Ans:
8. Find the remainder of 725 +9 ?
Ans:
9. What is the missing number in the blank?
50x26=__ x13
Ans:
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10. What is the smallest whole number that does not leave a remainder when divided by 6
and 87

Ans:

11. Fill in the three blanks below witht the numbers 3, 4 and 6, to give the largest possible
answer to the expression. (Each number can only be used once.)

(__ + ) x __ =Llargestpossible answer

Ans:

12. A storybook begins from page 1 to page 33. How many times does the digit “2” appear
on all the page numbers?

Ans:

Compiled by: 4 www.sgtestpaper.com



Answer Key

Verified by www.sgtestpaper.com

Subject: Primary 5 Maths — Whole numbers
Paper: CA2 2015

QL Q2 Q3 o4

3 4 3 3

5. 3500
6. 160
7. Ali’'s age -> 5,10,15,20,25,30,...
Zaki’'s age -> 4,6,9,11,14,16,19,21,24,26, 29,31,...
650 ->AxZ
Possible age -> 25 x 26 = 650
Ali = 25, Zaki = 26

8. 5

9. 50 x2 =100

10. 24

11. (3+4) x 6 = Largest possible answer
12. 14 times

References:

(Q1,2,3,5,6,7) = RS (Q1,3,14,16,17,28)
(Q4,8,9,10,11,12) = NHPS (Q1,16,19,20,24,30)
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